A country wishes to increase the percentgage of children that are born male so they adopt
the following law.

” A married couple is to have children until either they have one girl or three boys.”

What this means is that each couple is required to have at least one child. If the first chilc
is a girl, then the couple will not have any more children. If the first child is a boy, the couple has
a second child. If the second child is a boy they have a third, otherwise the couple stops having
children.

What is the probability that a couple has more boys than girls? What is the probability
that a couple has more girls than boys? How many children are expected on average? How many
boys are expected on average? How many girls are expected on average?
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Example of table of ZibzA Pa,bl0g Nf;_;"}

with correct period

We should see high values in each row and column except one row
(the last position of the permutation) and one column (the first
position of the permutation).

26] 31] 34 26 20
8 0|53 32| 24 32
39 26 0| 26 24 29
33 0| 26 28 22
24(@1 29/ 29 0| 26 21
21| 78| 2844 27| 0
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PERMUTATION




